# APPLICATIONS OF COPRIME POLYNOMIALS TO THE EQUATIONS OF RANKS OF MATRIXES OVER SKEW FIELD 

SONG ZHENZHEN*, WANG JUNQING<br>Department of Mathematics, Tianjin Polytechnic University, Tianjin 300387, PR China.

(Received On: 10-04-15; Revised \& Accepted On: 15-12-15)


#### Abstract

In this paper, we use the relatively prime polynomial of rank identities of the product of matrix, and the method of constructing block matrix, and conducting elementary transformation, if we can add some constraints and transform the rank identities from the domain to the skew field, finally we get a series of the conclusion of the rank of matrices over skew field.


Keywords: skew field; coprime polynomials; equations of ranks.

## 1. INTRODUCTION

Rank is an important and widely used numerical characteristic of matrix. Studying the ranks of matrixes is a basic problem of algebra. On the matrix theory over skew field, the result of the ranks of matrixes more takes the form of inequation. It causes a lot of inconvenience in the further application of the ranks of matrixes. Therefore, this article will discuss the identical equations of ranks of matrixes over skew field using the coprime polynomials.

## 2. PREPARATION KNOWLEDGE

In this paper, let $K$ be a skew field and $x$ be unknown. $K[x]$ is a ring. $r(A)$ is denoted the rank of matrix $A$. $d(x)=(f(x), g(x))$ and $m(x)=[f(x), g(x)]$ of leading coefficient being 1 are respectively denoted the greatest left common divisor and the least right common multiple $f(x)$ and $g(x)$. If $C(K)$ is the centre of skew field $K$, $C(K)=\{a \in K \mid a x=x a, \forall x \in K\}$.

Lemma 2.1: Let $f(x), g(x) \in C[x]$ be the polynomials of the leading coefficient being 1 , and $d(x)$ and $m(x)$ are respectively denoted the greatest left common divisor and the least right common multiple of $f(x)$ and $g(x)$, then $f(x) g(x)=d(x) m(x)$.

Lemma 2.2: The sufficient and necessary condition for two polynomials $f(x), g(x) \in C[x]$ are said to be relatively prime is there are $u(x), v(x) \in K[x]$ such that $u(x) f(x)+v(x) g(x)=1$.

Lemma 2.3: Let $f_{i}(x), g_{j}(x) \in C[x],(i=1,2, \cdots, m ; j=1,2, \cdots, n)$ and $\left(f_{i}(x), g_{j}(x)\right)=1$, then

$$
\left(f_{i}(x), \prod_{j=1}^{n} g_{j}(x)\right)=1,(i=1,2, \cdots, m ; j=1,2, \cdots, n)
$$

## 3. THEOREM AND COROLLARY

Theorem 3.1: Let $A \in K^{n \times n}, f(x), g(x) \in C[x]$. If $(f(x), g(x))=1$, then

$$
r(f(A))+r(g(A))-r(f(A) g(A))=n
$$

[^0]Proof: Since $(f(x), g(x))=1$, by the lemma 2.2, $u(x) f(x)+v(x) g(x)=1, u(x), v(x) \in K[x]$. We substitute the matrix $A$ into the formula, where $A \in K^{n \times n}$, then

$$
u(A) f(A)+v(A) g(A)=E
$$

Constructing block matrix $M$ and conducting elementary transformation, we have

$$
\begin{aligned}
& M=\left(\begin{array}{cc}
f(A) & E \\
O & g(A)
\end{array}\right) \rightarrow\left(\begin{array}{cc}
f(A) & E-u(A) f(A) \\
O & g(A)
\end{array}\right) \\
& \rightarrow\left(\begin{array}{cc}
f(A) & E-u(A) f(A)-g(A) v(A) \\
O & g(A)
\end{array}\right)=\left(\begin{array}{cc}
f(A) & O \\
O & g(A)
\end{array}\right)
\end{aligned}
$$

Then

$$
r\left(\begin{array}{cc}
f(A) & E  \tag{1}\\
O & g(A)
\end{array}\right)=r\left(\begin{array}{cc}
f(A) & O \\
O & g(A)
\end{array}\right)=r(f(A))+r(g(A))
$$

We conduct another transformation for $M$,

$$
M=\left(\begin{array}{cc}
f(A) & E \\
O & g(A)
\end{array}\right) \rightarrow\left(\begin{array}{cc}
f(A) & E \\
-f(A) g(A) & g(A)
\end{array}\right) \rightarrow\left(\begin{array}{cc}
O & E \\
-f(A) g(A) & O
\end{array}\right)
$$

Therefore

$$
r\left(\begin{array}{cc}
f(A) & E  \tag{2}\\
O & g(A)
\end{array}\right)=r\left(\begin{array}{cc}
O & E \\
-f(A) g(A) & O
\end{array}\right)=n+r(f(A))+r(g(A))
$$

By combining the above (1), (2) two equations, we have

$$
r(f(A))+r(g(A))-r(f(A) g(A))=n
$$

Specially, for the theorem 3.1, when $f(A) g(A)=O$, we have $r(f(A))+r(g(A))=n$.
Corollary 3.1: Let $A \in K^{n \times n}, f_{i}(x), g_{j}(x) \in K[x],(i=1,2, \cdots, m ; j=1,2, \cdots, n)$. If $\left(f_{i}(x), g_{j}(x)\right)=1$, then

$$
r\left(\prod_{i=1}^{m} f_{i}(x)\right)+r\left(\prod_{j=1}^{n} g_{j}(x)\right)-r\left(\prod_{i=1}^{m} f_{i}(x) \prod_{j=1}^{n} g_{j}(x)\right)=n
$$

Proof: $\left(f_{i}(x), g_{j}(x)\right)=1$, so $\left(f_{i}(x), \prod_{j=1}^{n} g_{j}(x)\right)=1,(j=1,2, \cdots, n)$, and then

$$
\left(\prod_{i=1}^{m} f_{i}(x), \prod_{j=1}^{n} g_{j}(x)\right)=1,(i=1,2, \cdots, m)
$$

According to the conclusion of theorem 3.1, we have

$$
r\left(\prod_{i=1}^{m} f_{i}(x)\right)+r\left(\prod_{j=1}^{n} g_{j}(x)\right)-r\left(\prod_{i=1}^{m} f_{i}(x) \prod_{j=1}^{n} g_{j}(x)\right)=n
$$

Corollary 3.2: Let $A \in K^{n \times n}, f_{\mathrm{i}}(x) \in C[x], i=1,2, \cdots, m$. If $f_{1}(x), f_{2}(x), \cdots, \quad f_{m}(x)$ are said to be the polynomial of pairwise coprime, then

$$
\sum_{i=1}^{m} r\left(f_{i}(A)\right)-r\left(\prod_{i=1}^{m} f_{i}(A)\right)=(m-1) n .
$$

Proof: We use mathematical induction to prove the conclusion.
When $m=2$, then $r\left(f_{1}(A)\right)+r\left(f_{2}(A)\right)=n+r\left(f_{1}(A) f_{2}(A)\right)$ obviously established.

If when $m=k$, the conclusion is established. Then when $m=k$, set $g(x)=f_{k}(x) f_{k+1}(x)$, by the following two equations $\left(f_{i}(x), f_{k}(x)\right)=1,\left(f_{i}(x), f_{k+1}(x)\right)=1,(1 \leq i \leq k-1)$, we have

$$
\left(f_{i}(x), f_{k}(x) f_{k+1}(x)\right)=\left(f_{i}(x), g(x)\right)=1 .
$$

According to the hypothesis, we have

$$
r\left(f_{1}(A)\right)+r\left(f_{2}(A)\right)+\cdots+r\left(f_{k-1}(A)\right)+r(g(A))-r\left(\prod_{i=1}^{k+1} f_{i}(A)\right)=(k-1) n
$$

and know

$$
r\left(f_{k}(A)\right)+r\left(f_{k+1}(A)\right)=n+r\left(f_{k}(A) f_{k+1}(A)\right)=n+g(A)
$$

So we will get the conclusion.
Specially, when $\prod_{i=1}^{m} f_{i}(x)=0$, we have $r\left(f_{1}(x)\right)+r\left(f_{2}(x)\right)+\cdots+r\left(f_{m}(A)\right)=(m-1) n$.
Therefore we get the following corollary.
Corollary 3.3: Let $A \in K^{n \times n}, f_{\mathrm{i}}(x) \in C[x] i=1,2, \mathrm{~L}, m$. If $f_{1}(x), f_{2}(x), \cdots, f_{m}(x)$ are said to be the polynomial of pairwise coprime, and $f_{i}(A) f_{j}(A)=0, i \neq j,(i, j=1,2, \cdots, m)$, we have

$$
r\left(f_{1}(A)\right)+r\left(f_{2}(A)\right)+\cdots+r\left(f_{m}(A)\right)=\frac{1}{2} m n .
$$

Proof: Because $\quad f_{i}(A) f_{j}(A)=O,\left(f_{i}(A), f_{j}(A)\right)=1, i \neq j$,

$$
r\left(f_{i}(A)\right)+r\left(f_{j}(A)\right)=n, i \neq j,(i, j=1,2, \cdots, m) .
$$

We will add $m(m-1)$ polynomials above and get the conclusion:

$$
2(m-1)\left(r\left(f_{1}(x)\right)+r\left(f_{2}(x)\right)+\cdots+r\left(f_{m}(A)\right)\right)=m(m-1) n .
$$

So the corollary 3.3 was established.
Theorem 3.2: Let $A \in K^{n \times n}, f(x), g(x) \in C[x]$, and be the above definition of $d(x), m(x)$, then

$$
r(f(A))+r(g(A))=r(d(A))+r(m(A))
$$

Proof: If there are zero polynomials at least between $f(x)$ and $g(x)$, then the conclusion is obviously established.
Now let $f(x) \neq 0, g(x) \neq 0$, we have

$$
f(x)=d(x) f_{1}(x), g(x)=d(x) g_{1}(x),\left(f_{1}(x), g_{1}(x) \in C[x]\right),\left(f_{1}(x), g_{1}(x)\right)=1 .
$$

Then

$$
d(A)=u(A) f(A)+v(A) g(A)
$$

Constructing block matrix $\left(\begin{array}{cc}f(A) & O \\ O & g(A)\end{array}\right)$ and conducting elementary transformation, we have

$$
\begin{aligned}
& \left(\begin{array}{cc}
f(A) & O \\
O & g(A)
\end{array}\right) \rightarrow\left(\begin{array}{cc}
f(A) & O \\
u(A) f(A)+v(A) g(A) & g(A)
\end{array}\right) \\
& \rightarrow\left(\begin{array}{cc}
f(A) & O \\
d(A) & g(A)
\end{array}\right) \rightarrow\left(\begin{array}{cc}
f(A) & -g_{1}(A) f(A) \\
d(A) & g(A)-g_{1}(A) d(A)
\end{array}\right)
\end{aligned}
$$

$$
\begin{aligned}
& \rightarrow\left(\begin{array}{cc}
f(A)-d(A) & f_{1}(A) \\
d(A) & -g_{1}(A) f(A)+g_{1}(A) d(A) f_{1}(A)+g(A) f_{1}(A) \\
g(A)-g_{1}(A) d(A)
\end{array}\right) \\
& \rightarrow\left(\begin{array}{cc}
O & -g_{1}(A) d(A) f_{1}(A) \\
d(A) & O
\end{array}\right) \rightarrow\left(\begin{array}{cc}
d(A) & O \\
O & g_{1}(A) f_{1}(A) d(A)
\end{array}\right)=\left(\begin{array}{cc}
d(A) & O \\
O & m(A)
\end{array}\right) .
\end{aligned}
$$

So,

$$
r\left(\begin{array}{cc}
f(A) & O \\
O & g(A)
\end{array}\right)=r\left(\begin{array}{cc}
d(A) & O \\
O & m(A)
\end{array}\right)
$$

Therefore, the conclusion

$$
r(f(A))+r(g(A))=r(d(A))+r(m(A))
$$

was established.
Specially, if $f(A)=O$, then $r(f(A))=r(g(A))$.

## REFERENCE

1. Wajin Zhuang, Introduction to Matrix Theory over Skew Field [M], Beijing: Science press, 2006.
2. Yongquan Jiang. Applications of Coprime Polynomials to Ranks of Matrixes [J]. Xuzhou Normal University (Natural Science Edition), 2004, 22(3):71-74
3. Kezheng Zuo. Two Equalities on the Rank of Polynomial of Matrices [J]. Shandong University (Natural Science), 2011, 46(4):91-97.

## Source of Support: Nil, Conflict of interest: None Declared

[Copy right © 2015, RJPA. All Rights Reserved. This is an Open Access article distributed under the terms of the International Research Journal of Pure Algebra (IRJPA), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.]


[^0]:    *Corresponding Author: Song Zhenzhen*
    Department of Mathematics, Tianjin Polytechnic University, Tianjin 300387, PR China.

